Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V EXAMINATION -WINTER - 2018

Subject Code:3351905 Date: 10-12-2018
Subject Name: ESTIMATING, COSTING AND ENGINEERING CONTRACTING
Time:10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Q1 Answer any seven out of ten. €202l SlEURL Ulcletl ellol AU,
Define Costing and Estimation.
51:2loL Ual ANt ofl catvaul AL,

Define. (1) Feed (2) Depth of cut (3) Cutting speed (4) Approach.
cqludl AL (1) 8ls (R) 31 s s2 (3) s2lot 1dls (¥)HU.
List the Elements of cost in arc welding.

ULE Aeslol U2 ol WA ol uesl cul.
Define Forging and list the types of forging.
sloToL ol cautvaal UL AMell UsLR wswlLCl.
Define Depreciation and Obsolescence.
SYl2llAdet wal quRla(@etcll ofl cautvail L.
State the conditions of contract.

slatse ofl 2Rl weuAl.

List six objectives of budget.

W2 oll 518 ULl &9 sl ULl

What is economic batch quantity?

“ wl(es cel wedl « Aed 9 ?

Define Breakeven point.

As sclal W ofl carvaul .

Write down the importance of cost analysis.
sle Aol of Hecal Al

oukrwdE

© 00 6 N o LU AW AADN PR

o5

Q.2 Explain the need or importance of Break Even Point in Industry.
Ysl.? (W) Gl as 8clel Weezoll w312l Ml WdlRUAL arldl.

OR
(@) Explain effect on Breakeven Point while increasing the fixed cost.

1) AURN WRAIHL dulR sl As8det WEee GUR Al WA UHHLA

(b)  Derive an equation for Breakeven Point analytically,
(@)  Astcdldlscd RS gL Qs Bclot W2 of YA .

OR
(b)  ‘Breakeven analysis is a management tool’-Explain it.
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‘As Sclol Aol@AA U A Aaxle 2 &'- AU
What is ‘margin of safety’ in breakeven analysis?
Qs ot WelllAAlU HL “UcHAL U “ A

OR
The fixed cost of a company is Rs. 70,000. Sales price of unit is Rs.35 and
variable cost of unit is Rs.20. Find the total profit and safety margin when
total production is 13000 units.

As SUo(l M2 (A (BHA 3. 70,000 B. AsH AAWL (SHUA Rs.35 O
Ual AUs UsHo(l UAA WL Rs.20 8. 5c ol§l ual AcUHA dunl

U, AR A Geuleal 13,000 WsHL B,

A machine is purchased for Rs. 40,000 and its expected life is 16 years. Its
scrap value is Rs. 25,000. It 6% interest is charged on depreciation fund,
compare the depreciation rate by straight line & sinking fund method.

As Hllot 3. 40,000 Hi WIlecuHl wA 8, dell vielyd Quo(l
cAss 16 A B, Aol JBu Ay 3. 25,000 B. Aol AR §5 UR 6 ¥%
clley cdlsalMl A Al A cet wa Aslol §s ol Al
YRl € AL

OR
Market price of a pattern is Rs.300.Discount offered on market price is nil.
Material cost, Labour cost and overheads are in proportion of 1:2:3. If Labour
cost is Rs.60 per pattern then calculate the profit per pattern.

Vel ofl 0112 (BHd 3.300 B. 6IHR (BHd UR SIs1G2 Yo UM
A B HAZAA slke , AR Slke , el JARS 1:2:3 oll YHIRL Hi
.98 AuR 5l 3.50 Udl Veol dlat Al €35 Veol UR AUl atslell
a3l 83

State the factor affecting Arc welding cost and explain.
LS AR 512 A WU $cll URAH wlcll el A UHesLAl.

OR
Explain cost elements of Gas cutting.

AU 523101 oll WRL olf el AHL.
Define (1) Net weight (2) Shape weight and (3) Gross weight

cluAl AU () a2 Ase () AU Age el (3)NA Ase.

OR
Explain various forging operations.

WEl-oEl Slolol AU At UM,

A plate of 2m X 1m is to be prepared from four pieces of 100 cm X 50 cm X
1 cm with the help of Arc-welding. Welding is to done on both sides.
Calculate welding cost using given data: (1) Welding speed=1 m/hr (2)
Labour cost — Rs.20 /hr (3) Electrode consumption — 2 m/m of weld (4)
Electrode cost — Rs. 20/m(5) Power consumption — 1 kwh/m of weld (6)
Power charges —Rs. 7 /kWh
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LS A@oL ol Hee ad 100 AL X 50 AHL X 1 AL ol R 255t
il 2 . x 1 L ol @2 A daur saudl A B, AlXoL olad iy
UR scllMl wA 8. AU 32l gl APl ofl Bt (1) AlXoL
»SU - 1m/hr.(R) HYIL WA - Rs.20/ hr (3) 8ASAS clURIAl — 2 m/m
AW ACS (¥) 8AsAS (BHA - 3. 20/m.(U) ULER cURALL - 1 kwh/m
Wlg ACS.(S) UleR WL - 3. 7 /kwh.

OR
A bar stock of 20 mm diameter & 100 mm long is to be converted in to a
square bar of 20 mm side by drop forging. Calculate the length of the square
bar. Consider 7% scale loss.

Siu slolol a3 20 HLl stauHle? ual 100 HLH cougatant «loust?
Aol Higll 20 HLa{l ouey cuoll ARU Aol olottaetHl WA B. V%

B A oWl L AR Aollaw ol douy 2.
Explain different types of forging losses.

W EL-%El S0l AU AUl
OR

Calculate the cost of C. I. pulley of 1000 cm?® using material cost = Rs. 10 per
Kg, wages paid to the worker = 50 per day, density of C. I. = 7.2 gm per cm3,
overhead charges = 20% of material cost, melting charges = 20% of material
cost, number of mould prepared = 20 /day / molder.

1000 dol AHL ol sie wapd  ydl o slke qal. a4 we
WlAadell (Brd=3.20/(5.01, Wese] Adtat = 3.U0 Ul [Bar, sl
et ofl dotcdl=0.2 AH/A{ |, wWaRds W = Hilladsll
BHd ol 20%, Al WU = HARladoll (Bd ol 20%, il
Hlesefl Aval = 0/ aut/Aesw.

Explain various times considered to find Labour cost in machine shop.
Hallot UMl AR W 2lual HIZ RAletHl Adlcdl YEleEl UHA

Mgl

OR
A circular aluminium rod is to be reduced from diameter 50 mm to 40 mm for
a length of 90 mm, in two cuts. Assuming cutting speed as 20 m/min and feed
as 0.01 mm/rev. Estimate the time required for turning.

As UsYAR A lo{lan As co Ll douy we uo .l
stale? digdl ¥o Ll ol A () s2 gl saHl wad B.s2loL 1ls
0 /A2 wal $ls 0.01 HLHl/3lcyatet widl eollol M2 Aldldl

AL ofl o1l 53

A key way is to be cut in a spindle of 5 cm diameter & 50 cm long. Width of
key way is 1 cm. Diameter of cutter is 13.25 cm. If cutter is rotating at 120
R.P.M and feed is 0.05 cm/rev, then how much time it will take to cut the key
way of 1 cm depth?

As U A staule? wal wo A detss atotl allesd Higll (3-Q se
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Q.5
e

(b)

()

(©)

(8)

(a)
(W)

(b)
(A1)

(©)
(8)

(d)
(s)

scllHl A 8. (3-a ol uslouy 1 A B. 522 ol stuHler 13.2u
Al 8. 2 522 ol ¥ls 120 R.P.M aal $ls 0.0u Al /It
Aa Al 1 A Gsty ant (3-A A s2 s ALLAl 1ML ol

a3l 3.

OR
Estimate the time required to drill 4 holes of 1 cm diameter in a plate. Hole
depth is 2 cm, cutting speed is 15 m/min and feed is 0.01 cm/rev

As w2 i Bcflor 531 1 AL ol WR Al olollaltd . % 8l «ll
Gstes 2 A, sdlot alls au Hl/dlolle wad 4ls 0.04 A/
Adcatet sl Al [Zellor uma 0,

A Diesel power plant has a capacity of 1800 kW. Its peak load and load
factors are 1700 kW and 85 % respectively. If capital cost of Rs. 900 / kW,
Interest on capital 10 %, operating cost / year Rs.60000, Fuel consumption
0.4 litre / kWh, Fuel cost Rs.40 / litre , then Estimate power generation cost
of this plant

As (B3 Wwar wie ol 30{lE 1coo (BA Al Bd.wdie 0 Uls As
U AS 3522 egsN 1900 (BAldle wal cuy B. %l 3dled sle
3.co0/(5AR , 3Uled UR ol Uy €2 10% , UL sle yld
ay 3.50,000, RUA ol duA € 0.¥ ([AeR/BA A2 scus,
fuld ofl (U 3. ¥0 Udl (@22 8la Al , 2l wdie ol UaR %eiR3let
U2 oll WL ofl o1atd?l 52

List the types of budgets and explain any one in detail.

B2 ol YslR Rl sl uel As (AN A& Hi Avll.

Write short note on (1) Tendor form (2) Security bond.
(1) 252 A ual (2) syl cllos @R gsotlts ctAl,

What is tapping? Find equation to estimate tapping time considering usual
symbols.

2Ulot AeA 91?7 Ao Ruelled glrl UL AHA ol 2Rl M2 of Yot

QEL
State the cost elements of an ice plant.
ABA Letie M2 oll W ol u2sl cull.
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